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Fill in the blanks:

SEEBER
Area of Polygon

Y - # &k 13

@ E 7 # @ 4% Side Length Side Length

Area of square
@ & 7 @ Ak - Length x W 'Eigth

Area of rectangle !
@FirmdHamh = lﬁc x %%t

Area of parallelogram

_ , J& = .
@ = % ﬂ'-} @ %ﬁ- = - . 7 -

Area of triangle Base fieight

, _ LK T J& =)

@ﬁ’ W @ A = ( Upper Base Lower Base )X Height

Area of trapezium

St 4 B @ A

Find the area of the figures :

®

6cm
8cm
6cm
8cm
2x2+2+6x8 / 12x12-6x4+2x4 /

A4x12+2x2+4x12 /

mAg O0x8-(6+8)x2+2 / ;
Area = (4+12)x6+2x2

Area = 6x6+(6+8)x2+2

= 50cm? = 96m?>
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Find the areas of the figures :

® @

<

20cm A 9cm "
(6cm
7CID:R :
d
10cm 8cm Scn Scn
; 20x10+7x8+2 / & #% 9x3x2+6x3 /
Area = 20x18-(13+4+20)x8+2 Area = 9x9-3x3+2x2
= 228cm? = T2cm?
3m
® 3 @
m
4cm
3m 10cm
3m 2cm
3m 4cm
3m 5 .
X 18cm i
3x9+3x6+3x3 /
@ 9x9-(3x6+3x3) / &
Area = 3x3x6 Area = 2x10+(4+2+4)x(18-10)+2
=54m? = 60cm?

ocm
9cm
9cm
@A (0+T7T+7)x(5+5)+2- & A
Area = (5+7)x5=2 Area = 9x9-3x5
= 65m2 = 66cm?
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